ST LFHAXETHHANZRAR—E

. REHR
THHE mw T e [ &E
sWv=Fih 0 0 0
Eahiig iR E A —E R
namm 6 2 4
B 13 3 10
FHTH 1 1 0
I Bt 6 14
ﬁﬁ*ﬂt&iﬂ#ﬁit/@—ﬁw
BEm 7 0 7
EARTH 0 0 0
M 5 1 4
T 0 0 0
ETRM 5 3 2
SLHHH 8 5 3
=FH 23 14 9
N = 48 23 25
HifiigiEE e 24— R
EHH™H 4 2 2
Emth 7 4 3
Ham 14 6 8
J\Eith 0 0 0
=iBH 15 7 8
G 10 6 4
MK HT 0 0 0
N Et 50 25 25
HEaisigE L 2—EA
BE™ 5 3 2
LEBH 7 3 4
Bith 8 5 3
X 0 0 0
R 9 3 6
N 5F 14 15
JijE Lmiﬂﬁ?&ﬁitz@—‘é‘ A
S 4 2
RET o 0 0
By Bh 0 0 0
E = LLAT 10 5 5
5 4 BT 5 4 1
IN F 21 13 8
NI iRt 2 — R R IUEEREN
EX NI 8 5 3
78I HT 8 5 3
=, LL BT 0 0 0
NI ET 5 2 3
JI SHT 11 7 4
= RAT 14 8 6
J& LLI BT 0 0 0
EEHHET 19 14 5
R 0 0 0
N =t 65 41 24

%guégmmﬁﬁ
[
TEHE —mw T e | &E
ARitiEirEE 2 —B A
FriR 10 5 5
SREETH 0 0 0
P 0 0 0
AR 25 13 12
BEh 8 6 2
B 43 24 19
Fl4R Hhigi R 22— BN
TH™H 0 0 0
hnZEm 16 11 5
PETH 18 10 8
AEH 0 0 0
EHH 0 0 0
=FH 3 3 0
=lihH 0 0 0
= {CHT 7 3 4
2 FEH 10 5 5
N BT 54 32 22
tpibiEigEE 2—BA
AT 8 5 3
RA™ 6 2 4
TR 13 9 4
I E 27 16 11
dtipibEIEE A —RKEEEMEN
AEH 1 1 0
EXL) 2 1 1
71| BT 7 3 4
L EBHr 31 18 13
N = 23 18
B iﬂﬁ?&ﬂitza—‘ém
Bt 0 0 0
& A T 9 4 5
= tadil 4 2 2
= AT 0 0 0
/1N B2 7 BT 0 0 0
N B 13 6 7
ZREH I
Bek | BE LS T |
| 411 223 188||

63MABIF P 43 MR CIAABEZE

20T HTHf (X ZBE L



